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N = 0l & At & Ml A

2018 & 20 Q22 HII2ELESH AAHM
2N FUSTA
Hu: YASE =X
@ oez XN (o 23HII=2=ELE3H) (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
F0=2XA 104,890 81,960 22,930
= 80,592
= 20,148
= 4,150
Hass sXS5H 67,465 44,216 23,249
= 53,972
o= 13,493
SEENIEICEENVPECELP ) 67,465 44,216 23,249
= 53,972
o= 13,493
o230 67,465 44 216 23,249
= 53,972
o= 13,493
201 et 9| 2,300 1,200 1,100
= 1,840
= 460
01 AP 2t 2] d| 2,300 1,200 1,100
O=x=&dl € WY 2,100
= 1,680
& 420
O9z220aY/AlS EF&ELH 200
= 160
=} 40
202 04| 9,600 9,600 0
= 7,680
& 1,920
01 2L bl 9,600 9,600 0
ooz=2 AR Y| 9,600
= 7,680
o=t 1,920
301 Yere A 100 100 0
= 80
o= 20
11 JIEtE A= 100 100 0
OdMDIZAZ 100
= 80
& 20
307 QI2t0| ™ 54,965 32,816 22,149
= 43,972
& 10,993
o1 s R=Hl| 54,965 32,816 22,149
OAd M2 X | 19,156
= 15,325
= 3,831
OHMI AR 21,100
= 16,880




2N FUSTA
Mo HASE 2XEA
S =230 KNI (A2 20II=2SEAH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 4,220
O] 11,320
2 9,056
o= 2,264
OosoggdE8aza o AMGH 1,585
2 1,268
& 317
ost22 s 1,804
2 1,443
= 361
51 X3 500 500 0
2 400
& 100
01 2I2tES X2 500 500 0
Ooux=2 500
= 400
o=t 100
HHSHAY (Fo=X4) 33,275 34,000 ANT25
= 26,620
= 6,655
clady|(d23HII2ELESH) 33,275 34,000 ANT25
= 26,620
= 6,655
olZZ0f(AHl) 33,275 34,000 AT25
2 26,620
o= 6,655
101 e1214| 33,275 34,000 NT25
= 26,620
o=} 6,655
03 RIAHEZZXHE = 33,275 34,000 NT25
Oz 22AI B 33,275
= 26,620
& 6,655
MEES(Fo=EX4A) 4,150 3,744 406
BEIE(A2SHII=ELEEAH) 4,150 3,744 406
BEXE(XA) 4,150 3,744 406
802 Btet 2 J| Ef 4,150 3,744 406
03 =S 4,150 3,744 406
OBITH20IX42 U 43 et 4,150




